3 (Sem-5) EDN M 1

2017

EDUCATION
( Major_)
Paper : 5.1

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer/Fill in the blanks : 1x7=T
Tad i/ 5 ofad 349
(@) Who was the advocator of physical
naturalism?
SIS e e e @ e

A ( Turn Over )



(b)

()

(d)

(e)

8A/223

(2)

Metaphysics is the science of -

oE R S & - o

Who was the father of Pragmatism?
AasETE FeFan @ wieE 7

“Naturalism separates nature from
God.” Who said this?

“oglen SAARE A AFfeA Jue gfce |
Tw A @I (e 7

Ahimsa (non-violence] and liberation
from ignorance were the
principles of Philosophy.

basic

SRR W TR q e wbw
S = |

The name of Patanjali is associated
with

___ T #S ~befE s e iz wme |

{ Continued )

(g

[ &

“Everything is g
the hands of t
but everything
hands of ma
statement?
Treta wEA e
% ol 2

2. Answer briefly the f

oo il enpiyea o B

(@)

(b)

8A/223

Mention two
philosophy in ¢

fRmrTe e Ol 2T

What is the
democracy?

sjogs MYFE 4



(c)

(d)

(4)

What are the two types of female
students in Gurukula System in Vedic
education?

e e a3 e < 7R fred
97 01 3 e o

Write any two features of Islamic
thought.

e o i e o1 el oo o

3. Answer any three from the following

questions :

wers o i o Fofie 2 Sam oy

(@)

(b)

8A/223

Discuss the impact of Buddhist
philosophy on education.

ﬁwmmﬁ’@ammmmmﬁm

1

Explain how negative education can
save the child from vices and mistakes
according to Rousseau.

2 CTeams fslk R Frow sl ws
T A TH P AT 2

5x3=15

{ 5

fc) According to P
what should be t

2TBAT PR e
ez Bfts 2

(d) Write about five
of Yoga philosop

el X B S

{e) Mention any five
a democracy as
Kothari Commiss

P S o
fit e w1 Trad

“Education may be
practical side of philos
is the intellectual as
How far do you agree
Give reasons for your

P Gz Wi e
fegma (@fae et 1 @2 3
I 9 =12 frem R

{ Continued ) ?3‘” 223



8A/223

(6)

Or / 95931

“Pragmatism has brought a revolutionary
change in the field of education.” Explain
the statement.

“emyfe Prere doRr o9 GRS AReET
ool idcR 1" B! < w4

“Idealism has more to contribute to the
aims and objectives of education than to
its method.” Explain the statement and
state the aims of education in idealistic
philosophy.
“PireE afees Prem T uE Soeae s
T T @ FUEE A T4 S e
e Wee frepe e Srae 3

Or / =551

According to Buddhist philosophy, what
should be the aims of education? Discuss
the curriculum and method of teaching in
Buddhist system of education.
@7 wfm T B @ e e (%
A E O MR e e e
41 |

10

5+5=10

4+(3+3)=1(

( Continued

(7

Explain the concept

and value according t
How Islamic thoughts
system of education?

e e WS e,
T 1 e e
afwfere tafem 2

Or/
Explain how demot
education. What acc
be the role of a teac
country?
i TS SirSE T
S e (e e

8A—7000/223
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2017

EDUCATION
( Major )
Paper : 5.2

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed :
were TP Fo =i Tea fm

1x7=7

(a) Who wrote the book, Discourse on the
Arts and Sciences?

Discourse on the Arts and Sciences

SR (T A5 Fafes o

8A/224 ( Turn Over )



(b)

c)

(d)

(e)

SA[224

(2)

What is the name of Dewey's
model school established in
Chicago?

foaame a2fey w9 e g fmenee
o & 2

In which year Rabindranath Tagore’s
Shantiniketan was established?

@F BTS WreAy o e i
Cafes 2

Pestalozzi was

very much
influenced by Rousseau’s naturalistic

philosophy. (Write True or False)
coBrETe 7% oM FreR agfeait v am
AelEe Cafed | (3191 1 =prer feren)

What was the real name of Swami
Vivekananda?

7@ frasrra o s @ =i 0

{ Continued )

(g)

2. Answer the

(3

What was th
Farm establishe
South Africa?

s TS
9 f&F =fez 2

By whom Ga
‘Mahatma’?

(T SRS 2T

follow

short :

wofe il eppTRd B TR

(@)

(b)

8A/224

Name the two

education classil

RSy cfhie
e 41 |

Name any two |
mentioned by R

FEnd  SEd 9
T TgEd 401



(e)

(d)

(4)

Mention any two principles of Tagore’s fc)

method of teaching.

T S P oA B @ o

e Toas =11

Mention any two stages of children’s

life as divided by Dewey,

( 5

Write a note
theory

consequence.

wEd FERe o
Wﬁqmrﬁaﬁﬁm

of disci

(d) Ezplain five ai
fefam efiRer w31 Frsg Saeem R coen suggested by Swa
0T % STE w4l | |

=@ R S
3. Answer any three from the following i 5
questions : 5x3=15
oo i ﬁ 7 R s o - fe) Write a note on G
! of life as an ideal
fa) Write a note on Dewey’s concept of wrefafil e TRE
school, o o
fET2 Rema a1 7wds @b e B o
' . 4. Discuss about the
(b) Explain five important characteristics Rousseau to the

8A/224

of Pestalozzi’s educational philosophy.
CEFER fe wm e FFged aRE

CHENE TN

 Continued ) ESA’ 224

education.

wfers FrsoRale FeM
TN



(6) : (7]

Or / 5331 Or / &%
Explain Dewey's viewpoint on discipline Discuss about Tago
and the role of teacher. 5+5=1l  yrriculum and the air
P R e s e it qiEes
AT T4 | oo AFE FeEE

5. Why is Pestalozzi called the father of O A F)

psychological movement? Discuss
about Pestalozzi’s view on the aims of +* % %
education, 2+8=1

clEmse et S Pre e
fan = Frem wm AvSe opEER qReR
HICEATE T4

Or / 5941
Discuss about the role of the teacher and
discipline in Gandhiji’s basic education.

5+5=1l

TR g Free Fees shim @ wpiE
IAGE AT 4 |

6. Write an essay on the contribution of
Swami Vivekananda to modern education. 1

S S T ReereR SR e @
5] o |

8A/224 ( Continued 8A—7000/224



3 (Sem-5) EDN M 3

2017

EDUCATION
( Major )
Paper : 5.3
( Teacher Education )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following : 1x7=7
wore frapTye Ted i
(@) “A teacher can never really teach,

8A/225

unless he is still learning himself.”
Who said this?

“A teacher can never really teach,
unless he is still learning
himself.”” 1 (% ?

{ Turn Over )



(b)

fc)

(d)

fe)

8A/225

fa)

When was NCERT established?
NCERT (&fem 7@ afes 2

Write the full form of CIET.
CIET A 4 it &isl1 |

“The destiny of India is now being

shaped in her classrooms.” Which
Commission said this?

“The destiny of India is now being
shaped in her classrooms.” =

s (fEE 7

Which agency published the code of
professional  ethics for school
teachers in 2010?

(I TER Y050 596 R Mg
6T e AR e +fiew 2

Write the full form of SSST.
SSSTI =44 FICh! oy |

{ Continued |

{g)

(3

Write True or F
Teacher educe
training have n
them.

o1 ¢ firm o
Frrs fire == B
ofjef iz |

2. Answer the following

T R oY T

(@)

()

(c)

8A/225

Write the mu
education.

firms Prem o &

Write any two |
DIETA f 1Ml

What is 5
education?

refefas s f



%)

(d) Mention any two needs of in-service
teacher training.

sefeEn free s R e o
AraTEAETe e 4 |

3. Answer any three from the following
questions : 5%3=15

Fraffe enrmza R @ fofitm T o

(a) Write about the needs of pre-service
teacher training.

AF-DRAFAN Free AR aeEnTeR
ez o

{b) Write a note on the role of NCTE in
the field of teacher education,

fires PR (Fae NCTE® SReR e/qe
«f6 ¢t f=i= |

(c) Discuss the role of teacher in
curriculum transaction.

TEE R oFge feee o
A 34T |

8A/225 ( Continued |

( 5

(d) Explain the
assurance in te:

Frre PEFE QR
41 |

(e} Write any five fi
Colleges of Edu

Regional Colle
(RIE)® T e

Answer the following que

e epTEd e i
4, Write the scope and
education.
Tope P oI

Oor/

Discuss the pro
education in India,

SEwe FrEd PR T

8A /225



(6) (7

5. Discuss the role of a teacher as (a) a G d?
facilitator of learning and (b) a link . ourit 6 E
between school and society. 5+5=10 Give an ace X

India during the
@HF Freed (F) P e e W period.

(%) foem = SHER TEe Skaes B

S SeES = g e R

ft wrepT e 4@ |
Or / 331

, ! o
What is interaction analysis? Explain the

steps of Flander’s interaction analysis.
4+6=10

A=A T Rosmd &0 Flanders “=sfis
T Rcesem oz <411

6. What do you mean by professional ethics
of teachers? Discuss the changing role of
a teacher in the present-day context.

5+5=10
Wﬂwﬁwwﬁﬁqﬁmﬁsﬁ?

FETF HIGA ’Iﬁtﬁﬁ%ﬁﬁﬁ’lﬁ%ﬂﬁ'\fﬁm
A 41 |

; 8A—7000/225
8A/225 { Continued |



3 (Sem-5) EDN M 4
2017

E_DUCATION
( Major )
Paper : 5.4

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7="7
(a) Teaching is causing to learn.
{ Write True or False )
fpsgez 2'd e T |
(w% & oo o )

(b) Problem-solving method develops self-

dependence among students.
( Write True or False )

e (I 111 G S ) C

wrfarsanee e 9 |
(9% @ =wm &9 )

(c) The teacher who never questions never
. ( Fill in the blank )
R P fene @9 GOy, @8 @feme
— ( =190 513 o 41 )

8A/226 { Turn Over )




{d)

(e)

(g)

(2)

Who developed the concept of micro-
teaching?

R 4RAER e e ikfEE 0

Teaching  strategies
autocratic and

( Fill in the blank )

are mainly

el ST YEe Rl W I
( =@ 5% o@a % )
‘Concept  attainment’ model was

developed by Bruner.
( Write True or False )
R TS HOSAA FAIA e S |
(% o7 = fon )
Teaching is a skilled job,
( Write True or False )

Freme (22 4% (FrErE o |
(% 1 s o )
2. Write short answers :
g Ted fo
(a) Write two demerits of programme
instruction.
7Tl b1 =R
(b) What are the devices of teaching?
femestsrame qEEpE % 0

8A/226

2x4=8

(d

(3

Write two charac
model.

i <A 51 G

What do you 1
effectiveness?

e w2yl e |

3. Write short notes on
following :

ey il i careen fefiem o3

(a)

Teaching as art arn
sz oy e T f

(b) Autocratic strategie
TrtEe e e
{c) Fundamental elemn
model
fepmpe Wowed CNEE ©°
{d) Drill as a new con
ﬂ§?4WQTﬂEEﬁHﬂFﬁ
{fe) Inquiry Training M
BegrEd (@EFR T0wE
| 4. What do you mean
educational objective
importance for a teache
i ST g Jee f
T wFg T 41
847226

{ Continued |



(4}

Or / e[

What is the relation between teaching and
learning? Discuss about the factors affecting
teaching. 10
Freeg wF fem Twe ed B Brse-fre
ofEFTS 2reTa coreman BomTTE e ) |

5. What is teaching method? Explain the
lecture and demonstration methods of

teaching, 2+(4+4)=10
ﬁwﬁ%ﬁs?ﬁwwmwwm@l
T T

Or / gqe=r

Discuss about the various phases of
developing programme instruction material. 10

A0 P R ogee s Rien sz Rugy

SCEGAT 41 |

6. What is fixing devices of teaching?
Differentiate between drill and review as
fixing devices of teaching, 2+8=10

Rl it TR I — wTe99-

Wmmvﬁmﬁmmmmﬂfw
C‘?TGH'H

Or / w9q7

Define classroom management. Explain the
principles of classroom management, 2+8=10
cfiTw formm s O AT
AfeHTZ 0 0

LE &

8A—7000/226 3 (Sem-5) EDN M 4



3 (Sem-5) EDN M 5
2017

EDUCATION
( Major )
Paper : 5.5

( Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks / Answer the following :
1x7=T7

e frapigea @ o o 91 / e fa

fa) The measure of variability independent
of frequencies of the given distribution
is "
e et IMEATR deERe RpfeT o
et 1

(b) The value of coefficient of correlation of
two variables varies between and

oI BEAIE WE FEEE @ T
I qTES TS TW |

BA/227 ( Turn Over)




(c)

(c)

(e)

(g

B8A[227

(2)

In normal distribution, mean and +lo

includes % of total scores.

TERE form % 9% tlo-q T qfe
%o UEYE FH |

If mean is less than median, the
distribution is skewed.

TR S §9 3t feaE e

59|

A student ranks 6th in a class of
40 students. Find out the PR of the
student in the class.

9] 40 & B e OET BT 95 T s
itz | @S waEA PR ey w1

In a class of 19 students, 8 students
has failed in an examination. The marks
of the successful students are 41, 57,
61, 48, 56, 62, 75, 82, 72, 68 and 64,
Find out median mark of the class.

19 & Baye b7 s 1 +Frwre 8 w9 wg
TG T | FEeR N waee

%z 41, 57, 61, 48, 56, 62, 75, 82, 72,
68 SF 64. A T S Fiely 7y |

Why is histogram called continuous bar
graph?

SrecEas e sfifen wefg 15 e e

{ Continued )

2. Answer the following

T epEpTyE bed

(@)

(®)

(c)

(d)

8A/227

Mention two af
distribution tabl

Al e @

Distinguish be!
correlation and
tion.

o GIF-CAID
e A el

In Group (A),
sp =10 and

M= 10 and SD
SD of Group (/

{A}W N =40,

(B) % N =60, .
w7 (B)4 TLE A

Write two 1m1:
normal probabi

el (oA @
Gl



-

3. Answer any three of the following questions :

5x3=15

e il 2R i e fefivm e forg

(a)

(b)

{c)

8A/227

th.t‘ is' meant by statistics? What are
the limitations of statistical measure-
ment? 2+3=5

Ao fem Fm /& @ R
AR Remermz @ &2

What is standard deviation? Why is
standard deviation regarded superiar to
other measures of variability? Explain

2+3=5
wﬁgﬁ%ﬁs?ﬁyﬁmwcﬁﬁw

e fipfes fr ©
'L g <72 IF Roewm == =0

Wh‘at is. meant by percentile point and
p?lcentlle rank?  Illustrate  thej
difference with examples. 3;1;3 5

et R o e ' o f ?
TATRITE T2 TEH A4 e = | e

{ Continued )

(d
A 3
B 6

(e

{

8A/227

What is corr
10 students in t
as follows :
e 67 10 &

s W g

A 19T
Find out coe
between the m:
and B by rank-
- e
g i 0 1

Mention two &
presentation 0
histogram diff
Explain.

Gl A
91| 6 FEPES
“jes 7 AT =+ |

Explain the ¢
drawing differe
Explain the 0
Ku = 0-563.
o 2719 TP
1113‘11731 =i %40 |
ol Fyrm T4 |



(6.}

4. What is mean? Find out mean of the
following distribution by ‘assumed mean

method’ : 2+8=10,
e &2 e 0 wew wm uheR om e |
et =7 <
Class Interval Frequency
&1 e TR
55-59 4
50-54 I 8
45-49 | 10
40-44 ! 12
35-39 74
30-34 | 8
25-29 | 6
2024 [ 3
15-19 2
N =60
Or / 571

What is quartile deviation? Find out quartile
deviation from the following table :

BT [pfe 2 o wlmr om
ety <5
|—-Cla.ss Interval | Frequency TREd
il wEaE | e
9 [ 4
80-89 | 7
70-79 9
60-69 12
50-509 4
40-49 10
30-39 | 9
20-29 5
o T . N=60
8A/227

&y

2+8=10

vele Rpfe

( L

What is product-
Calculate coefficient
following data by thi:
ATIF-CAs FoEa
opford FeTma 9 A
6 AR G
10 12 15 11

Or/

In an examination, T
400 students is 45 wi
of 15. Assuming fl
normal, find out the

(a) The number of s
between 30 and

(h) The limits of the
the student

W57 +APETS 400 T
were frapigz e =31 :

{a] 30 ©F 603 T=

( Continued ) 8A/227



(8)

6. Draw an ogive from the following distribution
table and find out median from it : 8+2=10
oo feed SR @1 @O SEES wE w9 we
T a1 T e

I—_Cfa,s?mtem! i 'f—?}re_q-r;er-:cy—
et S TAEEE]
i 60-64 3
! 55-59 5
50-54 4
45-49 6
40-44 8
35-39 10
30-34 6
25-29 7
20-24 1
N =50
Or / J971

What is skewness? Test the skewness of the
above distribution. 2+8=10

e 6 2 evam o Rage <@ <=1

* ok

aA—T000/227 3 (Sem-5) EDN M 5



